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Chapter#01 

Choose the correct answer for each from the given options. 

i) If A and B are any two sets, then  𝐴𝑈𝐵 ′ = 

a. A’∪B’   b. 𝐴′ ∩ 𝐵′    c. 𝐴 ∩ 𝐵  d. none of these 

𝐷𝑒 𝑀𝑜𝑟𝑔𝑎𝑛′𝑠𝐿𝑎𝑤: 𝑖)  𝐴 ∪ 𝐵 ′ = 𝐴′ ∩ 𝐵′    𝑖𝑖)  𝐴 ∩ 𝐵 ′ = 𝐴′ ∪ 𝐵′  

ii) If 𝐴 = {2,3} and 𝐵 = {1,2} then 𝐴 − 𝐵 is equal to:  

a. {1,1}   b. {0,3}   c. {3}    d. {2}  

𝐴 − 𝐵 =  2,3 −  1,2 =  3 

𝐵 − 𝐴 =  1,2 −  2,3 =  1 
 

iii) If 𝐴 = {0,1}, 𝐵 = {1,2} and 𝐶 = {2,3} then 𝐴 ×  𝐵 ∩ 𝐶 =: 

a. ∅   b. { 1,3 , (0,1)}  c. { 0,2 , (1,2)}   d. { 2,3 , (1,1)} 

𝐵 ∩ 𝐶 =  1,2 ∩  2,3 = {2}

𝐴 ×  𝐵 ∩ 𝐶 =  0,1 ×  2 =   0,2 , (1,2) 
 

 

Chapter#02 

Choose the correct answer for each from the given options. 

i) The real part of  𝑥 + 𝑖𝑦 2 is: 

a. 𝑥2 + 𝑦2   b. 2xy   c. −2𝑖𝑥𝑦  d. 𝑥2 − 𝑦2   

 𝑥 + 𝑖𝑦 2 = 𝑥2 +  𝑖𝑦 2 + 2 𝑥  𝑖𝑦 = 𝑥2 − 𝑦2 + 2𝑥𝑦𝑖  

ii) The value of 𝑖3 is: 

a. 1   b. −i    c. 𝑖   d. −1  

𝑖3 = 𝑖2. 𝑖 = −1. 𝑖 = −𝑖  

iii) If 𝑖 =  −1 then value of  – 𝑖3 
2
 is: 

a. 1   b. 𝑖   c. −𝑖   d. −1   

 – 𝑖3 
2

=  𝑖3 2 =  𝑖2 3 =  −1 3 = −1  

iv) The conjugate of a complex number (𝑎, 𝑏) is: 

a. (−𝑎, −𝑏)  b. (𝑎, −𝑏)    c. (−𝑎, 𝑏)  d.  
𝑎

𝑏
,
𝑏

𝑎
  

v) If 𝑧 = −3𝑖 + 4 the 𝑧 = 

a. −3𝑖 − 4   b. −3𝑖 + 4  c. 3𝑖 + 4    d. 
1

−3𝑖+4
  

𝐼𝑓 𝑧 𝑖𝑠 𝑎 𝑐𝑜𝑚𝑝𝑙𝑒𝑥 𝑛𝑢𝑚𝑏𝑒𝑟 𝑡𝑕𝑒𝑛 𝑧  𝑖𝑠 𝑐𝑎𝑙𝑙𝑒𝑑 𝑖𝑡𝑠 𝐶𝑜𝑛𝑗𝑢𝑔𝑎𝑡𝑒.
𝑁𝑜𝑡𝑒: 𝑂𝑛𝑙𝑦 𝑠𝑖𝑔𝑛 𝑜𝑓 𝑖𝑚𝑎𝑔𝑖𝑛𝑎𝑟𝑦 𝑝𝑎𝑟𝑡 𝑔𝑒𝑡𝑠 𝐶𝑕𝑎𝑛𝑔𝑒𝑑

𝑍 = −3𝑖 + 4, 𝑠𝑜 𝑧 = 3𝑖 + 4
 

vi) If 𝑧 = 3 + 4𝑖 then 𝑧 + 𝑧 =:. 

a. 6    b. 8𝑖   c. 0   d. −1  

𝑧 = 3 + 4𝑖 𝑎𝑛𝑑 𝑧 = 3 − 4𝑖
𝑧 + 𝑧 = 3 + 3 = 6

 

vii) If a complex number z = x + iy is added to its conjugate, the result is: 
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a. Purely real   b. Purely Imaginary c. real or imaginary d. none of 

these         
𝐴𝑏𝑜𝑣𝑒 𝑒𝑥𝑎𝑚𝑝𝑙𝑒 𝑐𝑙𝑒𝑎𝑟𝑙𝑦 𝑠𝑕𝑜𝑤𝑠 𝑡𝑕𝑎𝑡 𝑖𝑠 𝐶𝑜𝑚𝑝𝑙𝑒𝑥 𝑛𝑢𝑚𝑏𝑒𝑟 𝑖𝑠 𝑎𝑑𝑑𝑒𝑑 𝑡𝑜

 𝑖𝑡𝑠 𝑐𝑜𝑛𝑗𝑢𝑔𝑎𝑡𝑒 𝑠𝑜 𝑎𝑛𝑠𝑤𝑒𝑟 𝑖𝑠 𝑎𝑙𝑤𝑦𝑠 𝑟𝑒𝑎𝑙
 

viii) The real part of (2𝑖 − 3)𝑖 is: 

a. 2   b. −2    c. -3   d. 3  

𝑖 2𝑖 − 3 = 2𝑖2 − 3𝑖 = 2 −1 − 3𝑖 = −2 − 3𝑖; 𝑅𝑒𝑎𝑙 = −2, 𝐼𝑚𝑎𝑔𝑖𝑛𝑎𝑟𝑦 𝑝𝑎𝑟𝑡 = −3

𝑁𝑜𝑡𝑒: 𝑌𝑜𝑢 𝑐𝑎𝑛 𝑎𝑙𝑠𝑜 𝑠𝑜𝑙𝑣𝑒 𝑡𝑕𝑖𝑠 𝑞𝑢𝑒𝑠𝑡𝑖𝑜𝑛 𝑢𝑠𝑖𝑛𝑔 𝐶𝑎𝑠𝑖𝑜
991

570
 𝑏𝑦𝑔𝑜𝑖𝑛𝑔 𝑖𝑛 𝐶𝑀𝑃𝐿𝑋 𝑚𝑜𝑑𝑒, 𝑢𝑠𝑖𝑛𝑔 

𝑚𝑜𝑑𝑒 𝑏𝑢𝑡𝑡𝑜𝑛 𝑙𝑒𝑓𝑡 𝑡𝑜 𝑡𝑕𝑒 𝑂𝑁 𝑏𝑢𝑡𝑡𝑜𝑛

 

ix) The real and imaginary part of 𝑖(3 − 2𝑖) are respectively: 

a. −2 𝑎𝑛𝑑 3  b. 2 𝑎𝑛𝑑 − 3   c. 2 𝑎𝑛𝑑 3    d. −3 𝑎𝑛𝑑 − 2  

𝑖 3 − 2𝑖 = 3𝑖 − 2𝑖2 = 3𝑖 − 2 −1 = 2 + 3𝑖; 𝑅𝑒𝑎𝑙 = 2, 𝐼𝑚𝑎𝑔𝑖𝑛𝑎𝑟𝑦 𝑝𝑎𝑟𝑡 = 3  

x) The real and imaginary parts of 𝑖(2 − 3𝑖) are: 

a. −3 𝑎𝑛𝑑 2  b. 3 𝑎𝑛𝑑 2    c. 2 𝑎𝑛𝑑 3   d. −2 𝑎𝑛𝑑 − 3  

𝑖 2 − 3𝑖 = 2𝑖 − 3𝑖2 = 2𝑖 − 3 −1 = 3 + 2𝑖; 𝑅𝑒𝑎𝑙 = 3, 𝐼𝑚𝑎𝑔𝑖𝑛𝑎𝑟𝑦 𝑝𝑎𝑟𝑡 = 2   

xi) The real part and imaginary part of 
2−𝑖

3
 are respectively: 

a. −
2

3
 𝑎𝑛𝑑

1

3
  b. 

2

3
 𝑎𝑛𝑑 −

1

3
   c. −

1

3
 𝑎𝑛𝑑 −

2

3
   d. −

1

3
 𝑎𝑛𝑑

2

3
   

2−𝑖

3
=

2

3
−

1

3
𝑖 ;    𝑅𝑒𝑎𝑙 =

2

3
 𝑎𝑛𝑑 𝐼𝑚𝑎𝑔𝑖𝑛𝑎𝑟𝑦 𝑝𝑎𝑟𝑡 = −

1

3
  

xii)  𝑎, 𝑏  𝑐, 𝑑 =: 

a. (𝑎𝑐 − 𝑏𝑑, 𝑎𝑑 + 𝑏𝑐)  b. (𝑎𝑐, 𝑏𝑑)  c. (𝑎𝑐 + 𝑏𝑑, 𝑎𝑑 − 𝑏𝑐) d. (𝑎𝑑, 𝑏𝑐) 

xiii) The multiplicative inverse of (𝑎, 𝑏) is: 

a.  
1

𝑎
,

1

𝑏
    b.  −

1

𝑎
, −

1

𝑏
   c.  

𝑎

𝑎2+𝑏2 , −
𝑏

𝑎2+𝑏2   d. 

 
𝑎

𝑎2+𝑏2 , −
𝑏

𝑎2+𝑏2  

xiv) The multiplicative inverse of (𝑐, 𝑑) is equal to: 

a.  
1

𝑐2 ,
1

𝑐2    b.  
𝑐

𝑐2+𝑑2 ,
−𝑑

𝑐2+𝑑2  c.  
𝑐

𝑑
 ,

𝑑

𝑐
    d.  

1

𝑐
,

1

𝑑
  

xv) The multiplicative inverse of (1,0) is: 

a. (0,1)   b. (−1,0)  c. (1,0)   d. (0,0)  

 1,0 −1 =  
1

 1 2+ 0 2 ,
−0

 1 2+ 0 2 =  
1

1+0
, 0 =  1,0   ;  𝑈𝑠𝑖𝑛𝑔 𝑎𝑏𝑜𝑣𝑒 𝑓𝑜𝑟𝑚𝑢𝑙𝑎 𝑜𝑓 𝑖𝑛𝑣𝑒𝑟𝑠𝑒  

xvi) The multiplicative inverse of  −3,8  is: 

a. (3, −8)   b.  −
1

3
,

1

8
    c.  

1

3
, −

1

8
    d.  −

3

73
, −

8

73
   

 −3,8 −1 =  
−3

 −3 2+ 8 2 ,
−8

 −3 2+ 8 2 =  
−3

9+64
,

−8

9+64
 =  

−3

73
,
−8

73
    

xvii) If 𝑧 = 𝑎 + 𝑖𝑏 the  𝑧 =: 

a.  𝑎 − 𝑏   b.  𝑎2 − 𝑏2    c.  𝑎2 + 𝑏2    d.  𝑎 + 𝑏  

xviii) Magnitude of 3 − 4𝑖 is: 

a. 25   b. 1    c. 9    d. 5   

𝑚𝑎𝑔𝑛𝑖𝑡𝑢𝑑𝑒 =   3 2 +  −4 2 =  9 + 16 =  25 = 5  

xix) If  𝑥 + 3, 3 = (−5,3), then value of x is: 

a. −7   b. −2    c. −8     d. −5 

𝑥 + 3 = −5, 𝑠𝑜 𝑥 = −5 − 3 = −8  

 

Chapter#03 

Choose the correct answer for each from the given options. 

i) The product of all cube roots of unity is: 

a. ∞   b.0   c. 1    d. -1   

𝐶𝑢𝑏𝑒 𝑟𝑜𝑜𝑡𝑠 𝑜𝑓 𝑢𝑛𝑖𝑡𝑦  1 𝑎𝑟𝑒 ∶ 1, 𝜔, 𝜔2

𝑃𝑟𝑜𝑑𝑢𝑐𝑡 = 1 × 𝜔 × 𝜔2 = 𝜔3 = 1
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ii) For the equation 𝑝𝑥2 + 𝑞𝑥 + 𝑟 = 0, the product of roots is: 

a. −
q

p
   b.

𝑟

𝑝
   c.−

𝑟

𝑝
   d. 

𝑞

𝑝
 

iii) The product of the roots of the equation 3𝑥2 − 5𝑥 + 2 = 0 is: 

a. 
3

5
   b. 

2

3
    c. 

3

2
    d. −

5

3
 

iv) The sum of the roots of 12𝑥2 − 15𝑥 + 4 = 0 is: 

a. −
4

3
   b. 

5

4
    c. 

4

3
    d. −

1

3
 

v) For the equation 𝑝𝑥2 + 𝑞𝑥 + 𝑟 = 0, then the sum of the roots is: 

a. –
𝑞

𝑝
   b. 

𝑞

𝑝
    c. 

𝑝

𝑞
    d. –

𝑝

𝑞
 

vi) For the equation 𝑙𝑥2 + 𝑚𝑥 + 𝑛 = 0, the sum of the roots = 

a. 𝑙 + 𝑚   b. 
𝑚

𝑙
    c. 

𝑛

𝑙
    d. –

𝑚

𝑙
 

vii) If roots of a quadratic equation are 2 and -2 then the equation is: 

a. x2 − 4 = 0   b. x2 + 4 = 0  c. x2 + 2 = 0  d. x2 − 2 = 0   

𝑥2 − 4 = 0, 𝑠𝑜 𝑥2 = 4, 𝑛𝑜𝑤 𝑥 = ±2   

viii)  i −8+ω8 =: 

a. 2   b. 1 + ω  c. 1 + ω2   d. none of these  

 𝑖 −8 + 𝜔8 =
1

 𝑖 8
+ 𝜔6. 𝜔2 =

1

 𝑖2 4
+  1 𝜔2 =

1

 −1 4
+ 𝜔2 = 1 + 𝜔2

𝑁𝑜𝑡𝑒: 𝜔3 = 1 𝑎𝑛𝑑 𝑎𝑛𝑦 𝑚𝑢𝑙𝑡𝑖𝑝𝑙𝑒 𝑜𝑓 3 𝑖𝑛 𝑝𝑜𝑤𝑒𝑟 𝑜𝑓 𝜔 𝑖𝑠 1. 𝐸. 𝑔 𝜔243 = 1, 𝜔15 = 1 

 

ix) 𝜔 + 𝜔2 =: 

a. 𝜔   b. 1    c. −1     d. 0  

= 1 + 𝜔2   

x) If 𝜔 is a complex cube root of unity then 𝜔16 =: 
a. 0   b. 𝜔2    c. 𝜔    d. 1   

𝜔16 = 𝜔15 . 𝜔 = 1. 𝜔 = 1  

xi) If 𝜔 is a cube root of unity, then 𝜔32 =: 

a. 0   b. 𝜔2     c. 𝜔   d. 1  

𝜔32 = 𝜔30 . 𝜔2 = 1. 𝜔2 = 𝜔2  

xii) If 𝜔 is the cube root of unity, then 𝜔4 =: 
a. 𝜔    b. 0    c. 𝜔2     d. 1   

𝜔4 = 𝜔3 . 𝜔 = 1. 𝜔 = 1  

xiii) If 𝜔 is a complex cube root of unity then 𝜔3 + 𝜔4 + 𝜔5 =: 

a. 1   b. 𝜔   c. 𝜔3    d. 0    

𝜔3 + 𝜔4 + 𝜔5 = 𝜔3 + 𝜔3 . 𝜔 + 𝜔3𝜔2 = 1 + 1. 𝜔 + 1. 𝜔2 = 1 + 𝜔 + 𝜔2 = 0  

xiv) The roots of a quadratic equation are equal if: 

a. 𝑏2 − 4𝑎𝑐 > 0  b. 𝑏2 − 4𝑎𝑐 < 0  c. 𝑏2 − 4𝑎𝑐 = 0  d. 𝑏2 − 4𝑎𝑐  

is a perfect square 

xv) The roots of the equation 𝑎𝑥2 + 𝑏𝑥 + 𝑐 = 0 are real and distinct, if 𝑏2 − 4𝑎𝑐 is: 

a. 0   b. 𝑝𝑜𝑠𝑖𝑡𝑖𝑣𝑒    c. negative   d. non zero 

xvi) The roots of the equation 𝑎𝑥2 + 𝑏𝑥 + 𝑐 = 0 are real and unequal then 𝑏2 − 4𝑎𝑐 is: 

a. Less than zero  b. equal to zero c. 𝑔𝑟𝑒𝑎𝑡𝑒𝑟 𝑡𝑕𝑎𝑛 𝑧𝑒𝑟𝑜  d. equal to zero 

xvii) The roots of the equation 𝑎𝑥2 + 𝑏𝑥 + 𝑐 = 0 are complex if 𝑏2 − 4𝑎𝑐 is: 

a. 𝑛𝑒𝑔𝑎𝑡𝑖𝑣𝑒   b. positive   c. 0     d. perfect 

square 

xviii) If 𝜔 is a complex cube root of unity  then  1 + 𝜔 + 𝜔2 2 will be equal to: 

a. 0    b. 1     c. 𝜔2   d. 4 

xix) If the roots of the equation 𝑎𝑥2 + 𝑏𝑥 + 𝑐 = 0 are equal then 𝑏2 − 4𝑎𝑐 is: 
a. Positive   b. negative   c. Perfect squarte d. 𝑧𝑒𝑟𝑜  

xx) If an equation, has the roots 
1

2
 and −

1

6
, the the equation is: 
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a. 12𝑥2 − 4𝑥 − 1 = 0  b. 𝑥2 − 6𝑥 + 2 = 0 c. 𝑥2 + 6𝑥 − 2 = 0  d. 12𝑥2 +
4𝑥 − 1 = 0  

𝑆𝑜𝑙𝑣𝑒 𝑡𝑕𝑒𝑠𝑒 𝐸𝑞𝑢𝑎𝑡𝑖𝑜𝑛 𝑢𝑠𝑖𝑛𝑔 𝑄𝑢𝑎𝑑𝑟𝑎𝑡𝑖𝑐 𝐸𝑞 𝑖𝑛 𝑀𝑂𝐷𝐸 𝑜𝑝𝑡𝑖𝑜𝑛 𝑖𝑛 𝐶𝑎𝑠𝑖𝑜 991 𝑜𝑟 570
𝑖𝑡 𝑤𝑖𝑙𝑙 𝑣𝑒𝑟𝑖𝑓𝑦 𝑡𝑕𝑒 𝑟𝑜𝑜𝑡𝑠 𝑠𝑜 𝑡𝑕𝑎𝑡 𝑤𝑖𝑙𝑙 𝑡𝑕𝑒 𝑐𝑜𝑟𝑟𝑒𝑐𝑡 𝑎𝑛𝑠𝑤𝑒𝑟

 

xxi) If −4 𝑎𝑛𝑑 8 are the roots of quadratic equation then the equation is: 

a. 𝑥2 − 4𝑥 − 32 = 0  b. 𝑥2 + 4𝑥 − 32 = 0 c. 𝑥2 − 4𝑥 + 32 = 0  d. 𝑥2 + 4𝑥 +
32 = 0 

xxii) If 22𝑥+3 = 32 the 𝑥 =: 

a. 2   b. 3    c. 1     d. 4   

22𝑥+3 = 32 = 25, 𝑠𝑜 2𝑥 + 3 = 5; 2𝑥 = 2 𝑎𝑛𝑑 𝑕𝑒𝑛𝑐𝑒 𝑥 = 1  

 

Chapter#04 

Choose the correct answer for each from the given options. 

i) A square matrix is said to be a singular if: 

a.  𝐴 = 0   b. 𝐴 = 0   c.  𝐴 = 1   d. none of these 

ii) If  
4 𝑥
2 −3

 = 0, then value of 𝑥 is: 

a. −12   b. −6    c. 0   d. 6   

 
4 𝑥
2 −3

 = 0, ⟹  4  −3 − 2𝑥 = 0 ⟹ −12 − 2𝑥 = 0 ⟹ 2𝑥 = −12 ⟹ 𝑥 = −6  

iii) If  
4 2
3 𝜆

  is a singular matrix, then 𝜆 =: 

a. 6   b. ±5    c. 
3

2
   d. 

2

3
   

 
4 2
3 𝜆

 = 0 ⟹ 4𝜆 − 6 = 0 ⟹ 4𝜆 = 6 ⟹ 𝜆 = 6

4
⟹ 𝜆 = 3

2
  

iv)  
2 1
1 3

  
3 4

−1 2
 =: 

a.  
5 10
0 10

    b.  
5 10
0 10

   c.  
15 20
−5 10

   d. none of these  

 
2 1
1 3

  
3 4

−1 2
 =   2  3 −  1 (1)  

3 4
−1 2

 =  6 − 1  
3 4

−1 2
 = 5  

3 4
−1 2

 =  
15 20
−5 10

  

v) The matrix  
2 0
0 −2

  is: 

a. Diagonal   b. Scalar  c. Unit   d. Null 

𝐷𝑖𝑎𝑔𝑜𝑛𝑎𝑙 𝑀𝑎𝑡𝑟𝑖𝑥: 𝐴 𝑚𝑎𝑡𝑟𝑖𝑥 𝑕𝑎𝑣𝑖𝑛𝑔 𝑎𝑙𝑙 𝑒𝑙𝑒𝑚𝑒𝑛𝑡𝑠 𝑧𝑒𝑟𝑜 𝑒𝑥𝑐𝑒𝑝𝑡 𝑖𝑛 𝑑𝑖𝑎𝑔𝑜𝑛𝑎𝑙  

vi) The matrix  
3 0 0
0 3 0
0 0 3

  is: 

a. diagonal  b. scalar   c. unit   d. null  

𝑆𝑐𝑎𝑙𝑎𝑟 𝑀𝑎𝑡𝑟𝑖𝑥: 𝐴 𝑑𝑖𝑎𝑔𝑜𝑛𝑎𝑙 𝑚𝑎𝑡𝑟𝑖𝑥 𝑕𝑎𝑣𝑖𝑛𝑔 𝑎𝑙𝑙 𝑒𝑙𝑒𝑚𝑒𝑛𝑡𝑠 𝑠𝑎𝑚𝑒 𝑖𝑛 𝑑𝑖𝑎𝑔𝑜𝑛𝑎𝑙  

vii) The matrix  
 3 0 0

0  3 0

0 0  3

  is a: 

a. Diagonal matrix  b. 𝑆𝑐𝑎𝑙𝑎𝑟 𝑚𝑎𝑡𝑟𝑖𝑥   c. Unit matrix   d. Null matrix 

viii) If  
1 0 0
0 5 k

−1 1 2
  is a singular matrix, then the value of k is: 

a. 10     b. 5   c. 2   d. 1 

 
1 0 0
0 5 k

−1 1 2
 = 1  

5 𝑘
1 2

 − 0 + 0 ⟹ 5 × 2 − 2𝑘 = 0 ⟹ 2𝑘 = 10 ⟹ 𝑘 = 5  

ix) If order of matrices A and B respectively are 2 x 3 and 3 x 4 than order of AB: 

a. 2 × 2   b. 3 × 3   c. 2 × 4   d. 4 × 2  

x) If the order of two matrices A and B are 𝑚 × 𝑛 and 𝑛 × 𝑝 respectively, then order of AB is: 
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a. 𝑚 × 𝑝    b. 𝑝 × 𝑛   c. 𝒏 × 𝒑   d. 𝑝 × 𝑚 

xi) A matrix, in which the number of rows is equal to the number of columns, is called: 

a. Identity matrix  b. Diagonal matrix  c. 𝑆𝑞𝑢𝑎𝑟𝑒 𝑚𝑎𝑡𝑟𝑖𝑥   d. Scalar matrix 

xii) A matrix, in which the number of rows is equal to the number of columns, is called: 

a. Identity matrix  b. Diagonal matrix  c. 𝑅𝑒𝑐𝑡𝑎𝑛𝑔𝑢𝑙𝑎𝑟 𝑚𝑎𝑡𝑟𝑖𝑥   d. Scalar matrix 

xiii)  𝐼3  equal to: 

a. −1   b. 0    c. 1     d. 3  

𝐼3 =  
1 0 0
0 1 0
0 0 1

 , 𝑠𝑜 𝑑𝑒𝑡𝑒𝑟𝑚𝑖𝑛𝑎𝑛𝑡 𝑖𝑠 1  

xiv) If 𝐴 =  
1 0 0
0 𝜔 0
0 0 𝜔2

  then  𝐴 =: 

a. 1    b. 𝜔    c. 𝜔2    d. −1   

𝐷𝑒𝑡𝑒𝑟𝑚𝑖𝑛𝑎𝑛𝑡 𝑜𝑓 𝑎 𝑑𝑖𝑎𝑔𝑜𝑛𝑎𝑙 𝑚𝑎𝑡𝑟𝑖𝑥 𝑖𝑠 𝑐𝑎𝑙𝑐𝑢𝑙𝑎𝑡𝑒𝑑 𝑏𝑦 𝑚𝑢𝑙𝑡𝑖𝑝𝑙𝑦𝑖𝑛𝑔 𝑎𝑙𝑙 𝑒𝑙𝑒𝑚𝑒𝑛𝑡𝑠 𝑜𝑓 𝑑𝑖𝑎𝑔𝑜𝑛𝑎𝑙

𝐻𝑒𝑟𝑒, 1 × 𝜔 × 𝜔2 = 𝜔3 = 1 
  

xv) If A is a non-singular matrix the 𝐴−1 =: 

a. 
𝐴𝑑𝑗  𝐴

𝐴
   b. 

𝐴𝑑𝑗  𝐴

|𝐴|
   c. 

| 𝐴𝑑𝑗  𝐴 |

𝐴
   d.  𝐴 𝐴𝑑𝑗𝐴 

xvi) The matrix  1 2 3 𝑡  is a: 

a. Row matrix  b. 𝑐𝑜𝑙𝑢𝑚𝑛𝑠 𝑚𝑎𝑡𝑟𝑖𝑥  c. singular  Non-singluar 

 1 2 3 𝑡 =  
1
2
3
 ; 𝑕𝑒𝑛𝑐𝑒, 𝑖𝑡 𝑖𝑠 𝑐𝑜𝑙𝑢𝑚𝑛 𝑚𝑎𝑡𝑟𝑖𝑥  

 

Chapter#05 

Choose the correct answer for each from the given options. 

i) A binary operation ∗ on a set is said to be associative if: 

a. 𝑎 ∗ 𝑏 = 𝑏 ∗ 𝑎       b. 𝑎 ∗ 𝑏 = 𝑏 ∗ 𝑎 = 𝑒   c.  𝑎 ∗ 𝑏 ∗ 𝑐 = 𝑎 ∗ (𝑏 ∗ 𝑐)   d. 𝑎 ∗ 𝑒 = 𝑒 ∗ 𝑎 = 𝑎 

ii) A binary operation ∗ on a set S, and e be the identity in S so 𝑎 ∗ 𝑒 =: 

a. 𝑎   b. e   c. ae   d. none of these  

  

Chapter#06 

 Arithmetic Mean: 𝑨 =
𝒂+𝒃

𝟐
 

 Geometric Mean: 𝑮 = ± 𝒂𝒃 

 Harmonic Mean:  𝑯 =
𝟐𝒂𝒃

𝒂+𝒃
 

 𝑨 > 𝐺 > 𝐻 and 𝑮𝟐 = 𝑨𝑯 
 

Choose the correct answer for each from the given options. 

i) The arithmetic mean between 5 and 10 is: 

a. 5.5   b. 6.5   c. 7.5    d. 8.5  

𝐴 =
𝑎+𝑏

2
=

5+10

2
= 7.5  

ii) The geometric means between 2 and 
1

 2 
 is: 

a. ±2   b. ± 2   c. ±1    d. ±
1

 2
   

𝐺 = ± 𝑎𝑏 = ±   2  
1

 2
 = ± 1 = ±1   

iii) The geometric means between 2 and 8 is: 

a. 5   b. 16   c.±8    d. ±4   

𝐺 = ± 𝑎𝑏 = ±  8  2 = ± 16 = ±4   
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iv) The harmonic means between 
1

3
 and 

2

5
 is: 

a. 
11

4
   b. 7   c. 

4

11
   d. 

7

11
  

𝐻 =
2𝑎𝑏

𝑎+𝑏
=

2 
1

3
  

2

5
 

 
1

3
 + 

2

5
 

=
4

11
 

v) The H.M. of 2 and 5 is: 

a. 
7

2
   b. ± 10    c. 0   d. 

20

7
 

vi) If H is the Harmonic mean between a and b, then 𝐻 =: 

a. 
𝑎+𝑏

2
   b.  𝑎𝑏    c. 

2𝑎𝑏

𝑎+𝑏
    d. None 

vii) The H.M. between p and q is: 

a. 
𝑝+𝑞

2
   b. 

𝑝+𝑞

𝑝𝑞
    c. 

2𝑝𝑞

𝑝+𝑞
    d. 

𝑞

𝑝+𝑞
 

viii) If 4, a, 16 are in G.P., then the value of ‘a’ is: 

a. 64   b. ±8     c.  8    d. ± 8  

𝑎 = ± 4 × 16 = ±2 × 4 = ±8  

ix) The nth term of the sequence 2,4,6,8, . . . ,n is: 

a. n   b. 
n

n+1
   c. 2n + 1  d. 2n  

x) If A,G,H are respectively the A.M., G.M., and H.M. between a and b, then: 

a. 𝐴2 = 𝐺𝐻  b. 𝐺 =
𝐴

𝐻
   c. 𝐺 =

𝐴+𝐻

2
   d. 𝐺2 = 𝐴𝐻  

 

Chapter#07 

Choose the correct answer for each from the given options. 

i) The value of 0! is: 

a. 0   b. 1     c. ∞    d. none of 
them 

ii) Number of ways in which 7 girls can be seated around a round table is: 

a. 7!   b. 7   c. 6!    d. 6  

∗ 𝑇𝑜 𝑎𝑟𝑟𝑎𝑛𝑔𝑒 𝑖𝑠 𝑎 𝑟𝑜𝑤; 𝑛!

∗ 𝑡𝑜 𝑎𝑟𝑟𝑎𝑛𝑔𝑒 𝑖𝑛 𝑎 𝑐𝑖𝑟𝑐𝑙𝑒 𝑜𝑟 𝑎𝑟𝑜𝑢𝑛𝑑 𝑎 𝑟𝑜𝑢𝑛𝑑 𝑡𝑎𝑏𝑙𝑒:  𝑛 − 1 ! ;   𝑕𝑒𝑟𝑒,  7 − 1 ! = 6!  

𝑇𝑜 𝑓𝑜𝑟𝑚 𝑎𝑛𝑒𝑐𝑘𝑙𝑎𝑐𝑒 𝑜𝑟 𝑔𝑎𝑟𝑙𝑎𝑛𝑑:
 𝑛−1 !

2

 

iii) 
 n−1 !

 n+1 !
=: 

a. 
1

n+1
    b. 

n−1

n+1
   c. 

1

n(n+1)
  d. none of these  

 𝑛−1 !

 𝑛+1 !
=

 𝑛−1 !

 𝑛+1 𝑛(𝑛−1)!
=

1

𝑛(𝑛+1)
 

iv) 
(𝑛+1)!

 𝑛−1 !
= 

a. 𝑛   b. 𝑛 − 1   c. 𝑛 + 1   d. 𝑛(𝑛 + 1)   

 𝑛+1 !

 𝑛−1 !
=

 𝑛+1 𝑛(𝑛−1)!

 𝑛−1 !
= 𝑛(𝑛 + 1)  

v) 
 𝑛+1 !

𝑛!
= 

a. 
𝑛+1

𝑛
   b. 𝑛 + 1   c. 𝑛(𝑛 + 1)   d.  𝑛 + 1 !  

 𝑛+1 !

𝑛 !
=

 𝑛+1 𝑛!

𝑛!
= 𝑛 + 1  

vi) 
𝑛!

 𝑛+1 !
=: 

a. 𝑛   b. n+1    c. 
1

𝑛
   d. 

1

𝑛+1
  

𝑛!

(𝑛+1)!
=

𝑛!

(𝑛+1)𝑛!
=

1

𝑛+1
 

vii) The value of  
5

2, 2
  is: 
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a. 30    b. 50   c. 40   d. 30  

 
5

2,2
 =

5!

2!.2!
=

120

2×2
= 30  

viii)  
5

3, 2
 =: 

a. 8   b. 9    c. 10    d. 20  

 
5

3,2
 =

5!

3!.2!
=

120

6×2
= 10  

ix) 
n
Pr i s  e q u a l  t o :  

a. 
𝑛!

𝑟! 𝑛−𝑟 !
   b. 

𝑛!

𝑟!
   c. 

𝑛!

𝑛!−𝑟!
   d. 

𝑛!

 𝑛−𝑟 !
  

𝑁𝑜𝑡𝑒: 𝑛𝑃𝑟
=

𝑛!

 𝑛−𝑟 !
 𝑎𝑛𝑑 𝑛𝐶𝑟

=
𝑛!

𝑟! 𝑛−𝑟 !
 

x) The value of 𝑛𝑃0
 is: 

a. 0                                   b. 1    c.𝑛!    d. 
1

𝑛
  

𝑛𝑃0
=

𝑛!

 𝑛−0 !
=

𝑛!

 𝑛 !
= 1  

xi) The value of 
8
P2 = 

a. 66   b. 76    c. 56    d. 86  

8𝑃2
=

8!

 8−2 !
=

8!

 6 !
=

8.7.6!

6!
= 56  ;   𝑐𝑎𝑙 𝑎𝑙𝑠𝑜 𝑏𝑒 𝑐𝑎𝑙𝑐𝑢𝑙𝑎𝑡𝑒𝑑 𝑢𝑠𝑖𝑛𝑔 𝑐𝑎𝑙𝑐𝑢𝑙𝑎𝑡𝑜𝑟  

xii) The value of 
5
P3 is: 

a. 120   b. 60     c. 20    d. 80  

5𝑃3
=

5!

 5−3 !
=

120!

 2 !
= 60 ;   𝑐𝑎𝑙 𝑎𝑙𝑠𝑜 𝑏𝑒 𝑐𝑎𝑙𝑐𝑢𝑙𝑎𝑡𝑒𝑑 𝑢𝑠𝑖𝑛𝑔 𝑐𝑎𝑙𝑐𝑢𝑙𝑎𝑡𝑜𝑟  

xiii) 
n
Cr

 
=:     𝑁𝑜𝑡𝑒: 𝑛𝑃𝑟

=
𝑛!

 𝑛−𝑟 !
 𝑎𝑛𝑑 𝑛𝐶𝑟

=
𝑛!

𝑟! 𝑛−𝑟 !
 

a. 
𝑛!

𝑟! 𝑛−𝑟 !
   b. 

𝑛!

 𝑛−𝑟 !
   c. 

𝑛!

𝑟!
    d. 

 𝑛−𝑟 !𝑟!

𝑛!
   

xiv) The value of 
13

C11 is: 

a. 77   b. 1!    c. 13!    d. 78   

13𝐶11
=

13!

11!  13−11 !
=

13.12.11!

11! 2 !
=

13.12

2
= 78 ;   𝑐𝑎𝑙 𝑎𝑙𝑠𝑜 𝑏𝑒 𝑐𝑎𝑙𝑐𝑢𝑙𝑎𝑡𝑒𝑑 𝑢𝑠𝑖𝑛𝑔 𝑐𝑎𝑙𝑐𝑢𝑙𝑎𝑡𝑜𝑟  

xv) If a balanced die is rolled, then the probability of getting 3 is: 

a. 
2

3
   b. 

3

2
    c. 

1

3
   d. 

1

6
  

𝑆 =  1,2,3,4,5,6 , 𝑂 𝑆 = 6, 𝐴 =  3 , 𝑂 𝐴 = 1; 𝑃 𝐴 =
𝑂 𝐴 

𝑂 𝑆 
=

1

6
 

xvi) A die is rolled once, the probability of getting a number 4 is: 

a. 
1

6
   b. 

1

3
   c. 

1

2
    d. 

2

3
  

𝑆 =  1,2,3,4,5,6 , 𝑂 𝑆 = 6, 𝐴 =  4 , 𝑂 𝐴 = 1; 𝑃 𝐴 =
𝑂 𝐴 

𝑂 𝑆 
=

1

6
 

xvii) The chance of winning 5 or 4 in a throw of a die whose faces are numbered from 1 to 6 is: 

a. 
1

6
   b. 

1

3
   c. 

1

2
   d. 

1

4
  

𝑆 =  1,2,3,4,5,6 , 𝑂 𝑆 = 6, 𝐴 =  5,4 , 𝑂 𝐴 = 2; 𝑃 𝐴 =
𝑂 𝐴 

𝑂 𝑆 
=

2

6
=

1

3
 

xviii) If a balanced die is rolled then the probability of getting 2 or 5 is: 

a. 
1

2
   b. 

1

3
    c. 

1

6
    d. 

2

5
  

𝑆 =  1,2,3,4,5,6 , 𝑂 𝑆 = 6, 𝐴 =  2,5 , 𝑂 𝐴 = 2; 𝑃 𝐴 =
𝑂 𝐴 

𝑂 𝑆 
=

2

6
=

1

3
 

xix) The probability of getting a head in single toss of a coin is: 

a. 0   b. 1    c. 
1

2
    d. −

1

2
 

𝑆 =  𝐻, 𝑇 , 𝑂 𝑆 = 2, 𝐴 =  1 , 𝑂 𝐴 = 1; 𝑃 𝐴 =
𝑂 𝐴 

𝑂 𝑆 
=

1

2
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Chapter#08 

Points to remember:  

 2𝑛 is an even number 

 (2𝑛 + 4) is an even number 

 (2𝑛 + 1) is odd number 

 (2𝑛 + 3) is odd number 

 If n=even, Middle Term=  
𝑛+2

2
 𝑡𝑕 𝑡𝑒𝑟𝑚 

 If n=odd, Middle Terms=  
𝑛+1

2
  𝑎𝑛𝑑  

𝑛+3

2
 𝑡𝑕 𝑡𝑒𝑟𝑚 

 

Choose the correct answer for each from the given options. 

i) The number of terms in the binomial expansion  𝑎 + 𝑏 𝑛  is: 

a. n  b. 𝑛 + 1    c. 2n    d. n-1 

ii) The number of terms in the binomial expansion  𝑎 + 𝑏 𝑛  is:. 

a. 𝑛 𝑡𝑒𝑟𝑚𝑠   b. 𝑛 − 1 𝑡𝑒𝑟𝑚𝑠  c. 𝑛 + 1  terms  d.  𝑛 + 2  
terms 

iii) The total number of terms in the binomial expansion of  𝑦2 +
𝑏2

𝑦2 
𝑛

are: 

a. n   b. n-1    c. 𝑛 + 1   d. 2n 

iv) The number of terms in the binomial expansion of (3𝑥 + 2𝑦)9 is: 

a. 9   b. 10     c. 11    d. 8 

v) The coefficient of 1
st
 term in the Binomial expansion of  x + a 8 is: 

a. 8C0
   b. 1C8

   c. 8C8
   d. 1C1

   

𝑇𝑟+1 = 𝑛𝐶𝑟
𝑎𝑛−𝑟𝑏𝑟 ; 𝐶𝑜𝑒𝑓𝑓. 𝑜𝑓  𝑟 + 1 𝑡h term is nCr

  one less 

So, coeff. of First term is 8C0

 

vi) If  a + b 2n+4  n ϵ ℕ, its middle term is: 

a.  2n + 1 th  term  b.  n + 3 th  term  c.  n + 1 th term     d.  n + 2 th term   

 2𝑛 + 4 𝑖𝑠 𝑎𝑛 𝑒𝑣𝑒𝑛 𝑛𝑢𝑚𝑏𝑒𝑟; 𝑀𝑖𝑑𝑑𝑙𝑒 𝑇𝑒𝑟𝑚 =
(2𝑛 + 4) + 2

2
= 𝑛 + 3  

vii) The middle term in the expansion of  𝑥 −
1

𝑥
 

20

 is: 

a. 9𝑡𝑕    b. 10𝑡𝑕     c. 11𝑡𝑕    d. 12𝑡𝑕    

20 𝑖𝑠 𝑎𝑛 𝑒𝑣𝑒𝑛 𝑛𝑢𝑚𝑏𝑒𝑟; 𝑀𝑖𝑑𝑑𝑙𝑒 𝑇𝑒𝑟𝑚 =
20 + 2

2
= 11  

viii) The middle term in the expansion of  𝑥 −
1

𝑥
 

2𝑛

is: 

a. (2𝑛 + 1)𝑡𝑕  term b. (𝑛 + 1)𝑡𝑕  𝑡𝑒𝑟𝑚   c. (2𝑛 + 2)𝑡𝑕  term   d. (𝑛 + 2)𝑡𝑕     

 2𝑛 𝑖𝑠 𝑎𝑛 𝑒𝑣𝑒𝑛 𝑛𝑢𝑚𝑏𝑒𝑟; 𝑀𝑖𝑑𝑑𝑙𝑒 𝑇𝑒𝑟𝑚 =
(2𝑛)+2

2
= 𝑛 + 1 term 

ix) If n is a natural number, the middle term in the expansion of (𝑎 + 𝑏)2𝑛  is: 

a.  
𝑛

2
 

𝑡𝑕

 term  b.  
𝑛+2

2
 

𝑡𝑕

 term c. (𝑛 + 1)𝑡𝑕  𝑡𝑒𝑟𝑚    d.  
2𝑛−1

2
 

𝑡𝑕

term 

x) If  𝑥 < 1, then 1 + 2𝑥 + 3𝑥2 + 4𝑥3 +.  .  .   is equal to: 

a.  1 − 𝑥 −2   b.  1 + 𝑥 −2   c.  1 − 𝑥 −1  d.  1 + 𝑥 −1 

xi)  𝑛020
3 =: 

a. 17   b. 18    c. 19   d. 20   

 𝑛0

20

3

=  1

20

3

=  1 + 1 + 1+.  .  . +1  18 𝑡𝑖𝑚𝑒𝑠 = 18;

𝐻𝑒𝑟𝑒, 3 𝑡𝑜 20 𝑚𝑒𝑎𝑛𝑠 𝑎𝑑𝑑 1 𝑡𝑖𝑙𝑙 18 𝑡𝑖𝑚𝑒𝑠

 

xii)  𝑛3 = 

a. 
𝑛2 𝑛+1 2

4
  b. 

𝑛3 𝑛+1 3

8
   c. 

𝑛 𝑛+1 

2
  d. none of these 

xiii)  𝑛 =   
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a. 
𝑛(𝑛+1)

2
   b. 

𝑛+1

2
    c. 

𝑛2 𝑛+1 2

2
 d. 

𝑛(𝑛+1)

2
 

 

Chapter#09 

Points to remember:  

 𝜋 𝑟𝑎𝑑𝑖𝑎𝑛𝑠 = 1800 

 1 𝑟𝑎𝑑𝑖𝑎𝑛 =
180

𝜋
 degree 

 10 =
𝜋

180
 radian 

 𝐼𝑛 𝐹𝑖𝑟𝑠𝑡 𝑄𝑢𝑎𝑑𝑟𝑎𝑛𝑡: 𝐴𝑙𝑙 𝑃𝑜𝑠𝑖𝑡𝑖𝑣𝑒 

 𝐼𝑛 𝑆𝑒𝑐𝑜𝑛𝑑 𝑄𝑢𝑎𝑑𝑟𝑎𝑛𝑡: 𝑂𝑛𝑙𝑦 sin 𝑎𝑛𝑑 𝑐𝑜𝑠𝑒𝑐  𝑃𝑜𝑠𝑖𝑡𝑖𝑣𝑒 

 𝐼𝑛 𝑇𝑕𝑖𝑟𝑑 𝑄𝑢𝑎𝑑𝑟𝑎𝑛𝑡: 𝑂𝑛𝑙𝑦 tan 𝑎𝑛𝑑 𝑐𝑜𝑡  𝑃𝑜𝑠𝑖𝑡𝑖𝑣𝑒 

 𝐼𝑛 𝐹𝑜𝑢𝑟𝑡𝑕 𝑄𝑢𝑎𝑑𝑟𝑎𝑛𝑡: 𝑂𝑛𝑙𝑦 cos 𝑎𝑛𝑑 𝑠𝑒𝑐  𝑃𝑜𝑠𝑖𝑡𝑖𝑣𝑒 

 

Choose the correct answer for each from the given options. 

i) 
2

3
π  radians in degree equal to: 

a. 600    b. 900   c. 1200   d. 1500  

2

3
π =

2

3
 180 = 1200  

ii) The angle of 
π

3
 radian is equal to: 

a. 1200   b. 1500   c. 600    d. 300   

π

3
=

180

3
= 600  

iii) 
2𝜋

3
 radians in degree is equal to: 

a. 900   b. 1200    c. 600    d. 1500   

2π

3
=

2(180)

3
= 1200  

iv) The angle of 
𝜋

90
 radians is equal to: 

a. 900   b. 20      c. 10    d. 1800   

π

90
=

180

90
= 20  

v) The angle 3300 in radians is: 

a. 
5𝜋

6
   b. 

7𝜋

6
    c. 

11𝜋

6
    d. 

13𝜋

6
   

3300 = 330  
π

180
 =

11π

6
 

vi) The angle 1350 in radians is: 

a. 
5𝜋

4
   b. 

3𝜋

4
    c. 

2𝜋

4
   d. 135𝜋   

1350 = 135  
π

180
 =

3π

4
 

vii) The value of tanθ is positive in _______ quadrant: 

a. 1
st
 & 4

th
   b. 1st  and 3rd    c. 2

nd
 and 3

rd
  d. 3

rd
 and 4

th
 

viii) If 𝑠𝑖𝑛𝜃 > 0 and 𝑠𝑒𝑐𝜃 < 0, then 𝜌(𝜃) lies in this quadrant: 

a. First   b. 𝑆𝑒𝑐𝑜𝑛𝑑   c. Third   d. Fourth 

ix) If 𝑠𝑖𝑛𝜃 < 0 and 𝑐𝑜𝑠𝜃 > 0, then 𝜌(𝜃) lies in this quadrant: 

a. First   b. second  c. Third   d. 𝐹𝑜𝑢𝑟𝑡𝑕  

x) If 𝑐𝑜𝑠𝜃 > 0 and 𝑠𝑖𝑛𝜃 < 0, then 𝜌(𝜃) lies in: 

a. Ist quadrant  b. 2𝑛𝑑 𝑞𝑢𝑎𝑑𝑟𝑎𝑛𝑡  c. 3𝑟𝑑 𝑞𝑢𝑎𝑑𝑟𝑎𝑛𝑡 d. 4𝑡𝑕 𝑞𝑢𝑎𝑑𝑟𝑎𝑛𝑡  

xi) If 𝑡𝑎𝑛𝜃 = −
3

4
 and 𝑠𝑖𝑛𝜃 is negative then 𝜌(𝜃) lies in: 

a. 1
st
 quadrant  b. 2

nd
 quadrant  c. 3

rd
 quadrant  d. 4𝑡𝑕 𝑞𝑢𝑎𝑑𝑟𝑎𝑛𝑡  
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xii) If 𝑡𝑎𝑛𝜃 = −
1

3
 and 𝑠𝑖𝑛𝜃 is negative, 𝜌(𝜃) lies in this quadrant. 

a. 3
rd

 quadrant  b. 1
st
 quadrant  c. 4𝑡𝑕 𝑞𝑢𝑎𝑑𝑟𝑎𝑛𝑡   d. 2

nd
 quadrant 

xiii) The area of a circle of radius r is: 

a. 2𝜋𝑟   b. 
1

2
𝜋𝑟2    c. 𝜋𝑟2     d. 2𝜋𝑟2 

  

Chapter#10 

Choose the correct answer for each from the given options. 

i) 1 − 𝑐𝑜𝑠𝜃 =: 

a. 2 cos2 𝜃

2
   b. sin2 𝜃

2
   c. cos2 𝜃

2
   d. 2 sin2 𝜃

2
 

ii) 1 + cosθ =: 

a. 2sin2 θ

2
      b. 2 cos2 θ  c. 2 sin2 θ  d. 2cos2 θ

2
 

iii) 𝑠𝑖𝑛 1800 + 𝜃 =: 

a. −cos𝜃   b. −sin𝜃   c. cos𝜃   d. sin𝜃   

sin 1800 + θ = sin 1800 cos θ + cos 1800 sin θ = 0 +  −1 sinθ = −sinθ  

iv) cos 900 − 𝛼 =: 

a. 𝑠𝑖𝑛𝛼    b. 𝑐𝑜𝑠𝛼    c. −𝑐𝑜𝑠𝛼  d. – 𝑠𝑖𝑛𝛼   

cos 900 − θ = cos 900 cos θ + sin 900 sin θ = 0 +  1 sinθ = sinθ  

v) 𝑡𝑎𝑛 1800 − 𝜃 =: 

a. 𝑡𝑎𝑛𝜃   b. −𝑡𝑎𝑛𝜃    c. 𝑐𝑜𝑡𝜃   d. – 𝑐𝑜𝑡𝜃   

tan 1800 − θ =
tan 1800 − tanθ

1 + tan 1800 tanθ
=

0 − tanθ

1 + (0)tanθ
=

−tanθ

1 + 0
= −tanθ  

vi) 
1

1+tan 2 𝜃 
=: 

a. sec2 𝜃   b. cos2 𝜃    c. sin2 𝜃  d. cot2 𝜃    

1

1 + tan2 θ
=

1

sec2 θ
= cos2 θ  

vii) 𝑡𝑎𝑛𝜃𝑐𝑜𝑠𝜃 = 

a. cos𝜃   b. 𝑠𝑖𝑛𝜃    c. sec𝜃   d. cosec𝜃   

tanθsinθ =
sinθ

cosθ
cosθ = sinθ  

viii) 𝑐𝑜𝑠𝑈 − 𝑐𝑜𝑠𝑉 = 

a. 2 sin
𝑈+𝑉

2
𝑐𝑜𝑠

𝑈−𝑉

2
   b. 2 cos

𝑈+𝑉

2
𝑠𝑖𝑛

𝑈−𝑉

2
  c. 2 cos

𝑈+𝑉

2
𝑐𝑜𝑠

𝑈−𝑉

2
  

d. −2 sin
𝑈+𝑉

2
𝑠𝑖𝑛

𝑈−𝑉

2
   

ix) 𝑐𝑜𝑠𝑈 + 𝑐𝑜𝑠𝑉 =: 

a. 𝑐𝑜𝑠
𝑈+𝑉

2
𝑐𝑜𝑠

𝑈−𝑉

2
 b. 2𝑐𝑜𝑠

𝑈+𝑉

2
𝑠𝑖𝑛

𝑈−𝑉

2
  c. 2𝑐𝑜𝑠

𝑈+𝑉

2
𝑐𝑜𝑠

𝑈−𝑉

2
  d. 2𝑠𝑖𝑛

𝑈+𝑉

2
𝑐𝑜𝑠

𝑈−𝑉

2
 

x) 𝐶𝑜𝑡 −𝜃 =: 

a. −𝐶𝑜𝑡𝜃    b. −𝑡𝑎𝑛𝜃   c. 
1

𝐶𝑜𝑡𝜃
    d. 

1

𝑡𝑎𝑛 𝜃
 

xi) tan −𝜃 =: 

a. 
1

𝑡𝑎𝑛𝜃
   b. −𝑡𝑎𝑛𝜃    c. −𝑐𝑜𝑡𝜃   d. 

1

𝑐𝑜𝑡𝜃
 

xii) The distance between (𝑎, 0) and (0, 𝑏) is: 

a. a+b   b. 𝑎2 + 𝑏2   c.  𝑎 + 𝑏                  d.  𝑎2 + 𝑏2  

d =   a − 0 2 +  0 − b 2 =  a2 + b2  

xiii) The distance between (1,1) and (4,5) is: 

a. 4   b. 3    c. 5     d. 2   

d =   4 − 1 2 +  5 − 1 2 =  9 + 16 =  25 = 5  

 

Chapter#11 
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Points to remember:  

 𝑃𝑒𝑟𝑖𝑜𝑑 𝑜𝑓 𝑠𝑖𝑛𝑥 𝑖𝑠 2𝜋 

 𝑃𝑒𝑟𝑖𝑜𝑑 𝑜𝑓 𝑠𝑖𝑛2𝑥 𝑖𝑠
2𝜋

2
= 𝜋 

 𝑃𝑒𝑟𝑖𝑜𝑑 𝑜𝑓 𝑠𝑖𝑛3𝑥 𝑖𝑠
2𝜋

3
 

 𝑃𝑒𝑟𝑖𝑜𝑑 𝑜𝑓 𝑐𝑜𝑠𝑥 𝑖𝑠 2𝜋 

 𝑃𝑒𝑟𝑖𝑜𝑑 𝑜𝑓 𝑐𝑜𝑠2𝑥 𝑖𝑠
2𝜋

2
= 𝜋 

 𝑃𝑒𝑟𝑖𝑜𝑑 𝑜𝑓 𝑠𝑖𝑛3𝑥 𝑖𝑠
2𝜋

3
 

 𝑃𝑒𝑟𝑖𝑜𝑑 𝑜𝑓 𝑡𝑎𝑛𝑥 𝑖𝑠 𝜋 

 𝑃𝑒𝑟𝑖𝑜𝑑 𝑜𝑓 𝑡𝑎𝑛2𝑥 𝑖𝑠
𝜋

2
 

 𝑃𝑒𝑟𝑖𝑜𝑑 𝑜𝑓 tan
𝑥

2
 𝑖𝑠

𝜋
1

2

= 2𝜋 

 

Choose the correct answer for each from the given options. 

i) The period of 𝑠𝑖𝑛2𝑥 is: 

a. 2𝜋   b. π    c. 
π

2
   d. 

2

3
π 

ii) The period of 𝑡𝑎𝑛𝑥 is: 

a. 𝜋    b. 
𝜋

2
     c. 2𝜋   d. none of 

these 

iii) The period of 𝑐𝑜𝑠𝜃 is: 

a. 𝜋   b. 2𝜋     c. 4𝜋    d. 
𝜋

2
 

 

Chapter#12 

Choose the correct answer for each from the given options. 

i) The sides of a triangle are 3,4 𝑎𝑛𝑑 5 units, then ‘S’=: 

a. 6    b. 12   c.15   d. 30   

s =
a + b + c

2
=

3 + 4 + 5

2
= 6  

ii) If the sides of a triangle are 2, 3 and 5, then 𝑠 =: 

a. 30   b. 25    c. 5     d. 10 

iii) If the sides of a triangle are 5,6 and 7 units, the 2s is: 

a. 6   b. 9    c. 18     d. 27   

s =
a + b + c

2
, So, 2s = a + b + c = 5 + 6 + 7 = 18  

iv) If a, b, c are the sides of ∆𝐴𝐵𝐶, then 
𝑎−𝑏+𝐶

2
=: 

a. s   b. s-a   c. 𝑠 − 𝑏    d.2s 

s =
a + b + c

2
, So, 2s = a + b + c

2s − 2b = a + b + c − 2b ⟹ 2 𝑠 − 𝑏 = 𝑎 − 𝑏 + 𝑐 ⟹ 𝑠 − 𝑏 =
𝑎 − 𝑏 + 𝑐

2

 

v) If a, b, c are the sides of ∆𝐴𝐵𝐶, then 𝑟 =: 

a. 
∆

s
    b. 

4∆

abc
   c. 

𝑎𝑏𝑐

4
   d. 

𝑎𝑏𝑐

4∆
 

vi) In a ∆ABC, a = b = c = x, the ∆=: 

a. 
 3

4
x2    b. 

 3

3
x2   c. 

 3

2
x2   d. 

 3

6
x2  

𝑇𝑖𝑟𝑎𝑛𝑔𝑙𝑒 𝑖𝑠 𝐸𝑞𝑢𝑖𝑙𝑎𝑡𝑒𝑟𝑎𝑙, 𝑠𝑜 𝛼 = 𝛽 = 𝛾 = 600, ∆=
𝑎𝑏𝑠𝑖𝑛𝛾

2
=

𝑥.𝑥

2
𝑠𝑖𝑛600 =

𝑥2

2
 

 3

2
 =

 3

4
𝑥2  

vii) The area of ∆ABC is: 

a. 
1

2
bcsinα   b. 

1

2
bc cosα  c. 

1

2
abc sinα  d. 

1

2
abc cosα 

viii) Area of triangle ABC is: 
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a. 𝑎𝑏𝑠𝑖𝑛𝛼   b. 
1

2
𝑎𝑏𝑠𝑖𝑛𝛽   c. 

1

2
𝑎𝑏𝑠𝑖𝑛𝛾    d. 2𝑎𝑏𝑠𝑖𝑛𝛾 

ix) The circum-radius of ∆ABC is: 

a. 
4∆

abc
   b. 

∆

2s
   c. 

abc

4∆
         d. s s − a  s − b (s − c)  

𝐶𝑖𝑟𝑐𝑢𝑚 − 𝑅𝑎𝑑𝑖𝑢𝑠 = 𝑅 =
𝑎𝑏𝑐

4∆
 

x) If a, b, c are the sides of ∆𝐴𝐵𝐶, then 𝑟 =: 

a. 
abc

4
   b. 

abc

4∆
   c. 

∆

s
   d. 

𝑠

∆
 

xi) The law of cosine, when ∠𝐵 is in the standard position is: 

a. 𝑎2 = 𝑏2 + 𝑐2 − 2𝑏𝑐𝑐𝑜𝑠𝛼 b. 𝑏2 = 𝑐2 + 𝑎2 − 2𝑎𝑐𝑐𝑜𝑠𝛽  c. 𝑐2 = 𝑎2 + 𝑏2 − 2𝑎𝑐𝑐𝑜𝑠𝛾 d. 

𝑐𝑜𝑠𝛽 = 𝑎2 + 𝑐2 − 𝑏 + 2𝑎𝑐 

  

Chapter#13 

Choose the correct answer for each from the given options. 

i) If 𝑠𝑖𝑛𝜃 = 0, then 𝜃 is equal to: 

a. 2𝑛𝜋, 𝑛 ∊ ℤ   b. (2𝑛 + 1)𝜋, 𝑛 ∊ ℤ  c. 𝑛𝜋, 𝑛 ∊ ℤ   d. 𝑛
𝜋

2
, 𝑛 ∊ ℤ 

sinθ = 0 ⟹ 𝜃 = sin−1 0 = 0
𝐺. 𝑆 =  0 + 2𝑛𝜋 =  2𝑛𝜋 

 


